100m ...

10”05 KIEBEE HBEXF 2002
xtin D &R (+0.1 m)
L=y Tun— K4 TiE X = EC 8K JIE iz S0k
1
2
3 20(FE)Il M3 ETIB2 11715 1 1076
4 113|FRIE [F =TIB2 11760 3 1172
5 28[XKJIl F5&E HIB2 11718 2 1171
6 126|5K K# EIBI 11716 4 1176
7
8
OB-OPDOER1#H (—04 m)
=Pl K4 g X (= EL 8K JIE 42 ok
1
2 35|FEIE fEA KR IBI 11”50 2 7
3 2|AR AN HEIBI 11785 4 7
4
5 205[/\ K #H—EETOB 12”00 1 72
6 13|58 & B TB3 11760 3 178
7
8
24 H (= 0 m)
L=y 3un— K4 TiE R 5 508K JIE iz S0k
1
2 14|74 ¥ HTIB3 11789 1 1177
3 38| X% BEF HTIBI 12”50 3 1178
4 19| @3E ¥Fh HIB2 12”41 2 1177
5 121/l m— BEIBIi 11”80 4 1270
6 34|/ #k FEE  HEIBI 13”50 5 1272
7
8
3#HB (— 1. m) ]
L=y Fun'— K4 g X (= EL K JIE 42 o8k
1
2 204(s1l HHAEIOB 15”00 3 1277
3 125|kH T EIBI 12”50 2 1277
4 40|% 2 R IBI1 13”20 6 1473
5 12(%th =F HEIB3 13”20 4 1372
6 109|515 ¥{E EIB2 13”50 5 1375
7 203|1FER kR FEIM2 14”00 1 1271
8




200' I I BARZFLERE 207

21 RIFFIR R KEE 2013
DR (+0.0 m)
L=y Fun'— K4 iz BX = EL 8K JIE 42 8%
1
2
3 20(FE)Il M3 HTIB2 22”71 1 2270
4 118|FFER Eglt ETIB2 24”19 4 2376
5 28|KJIl B5&E FEIB2 23703 3 2274
6 104[Fk & £ TB4 22”30 2 22”3
7
8
OB-OPDOE1$HE (—0. 7 m)
L=y Fun— K4 g R 1= 508K JIE 432 SCE%
1
2 1265k K#¥ EIBI 23708 2 2378
3 205[/)\ K #H—E ETOB 24”50 4 2475
4 14|574F B¥ HIB3 24”64 3 2473
5 13[=24% & RIB3 23”780 1 2279
6 204(#1 HHALEIOB 30700 5 2770
7 206|= F EEE B IOB 30700 6 2873
8
2418 (+-— m)
L=y Tun— K4 g R 08k JIE 42 i08%
1 290 $EF EIB2 30700 DNS
31|F FEth R IBI1 23”50 DNS

[N || ]|WIN




400' I I BARFAEER 457

03 G EZE BAKE 2000
*HA D& _
L=y FTun— K4 g BX (= ELEX JIE 43z 8%
1
2
3 11|35 K8 EIB3 52724 3 5179
4 10435k & =T B4 48”91 1 50”5
5 31|F%F EFth B TBI1 51705 4 5273
6 116|hIE A ETIB2 51”50 2 5176
7
8
OB-OPOER 14 H
L=y Fun'— K% iz BX = B 8K JIE {32 EC8%
1
2
3 118[FFR Bl EIB2 53700 2 5570
4 205/ K H—EETIOB 60”00 4 60”7
5 112|3EH 3B EIB2 51”50 1 5272
6 206[E F BEE HIBI 60”00 5 6271
7 204|481 AL ET OB 60”00 3 5770
8




800 m A 455

1746716 HWHEAN BFREX 2009
RO EB _
L=y FTun— K4 g BX (= ELEX JIE 43z SCE%
1
2
3 3[PRER K#h FETB4 1’57 3 2’0770
4 108|H# +E f1&E EIB2 4 271076
5 5[4EM F= FEIB4 2’00 1 1759”1
6 119(;kO #% EIB2 2’03 2 2’0476
7
8
OB-OPMDER1#H 8
L=y Fun— K4 g BX (o ELEX JIE 432 SCE%
1
2 101|85K K AEIB5 1 270170
3 201[5k#E FIFE FEIMI 2’ 04 5 270977
4 3[R &N FEIB4 2’02 DNS
5 10| K EF =HIB3 2’03 2 270179
6 213U RAE  EIMI 2’ 04 4 270877
7 208|% R = B TOB 3 270774
8 26|kHIE 3k FEHRIBI 2’02 DNS
9 27(#0)11 #0%E E I BT 2’00 DNS
2#8B _
L=y Fun'— K% iz BX = EL 8k JIE 43z S0E%
1
2 301[f%kR IE#f ETIOB 2’ 20 2 271079
3 204|#1L BB EIOB 2’30 3 271174
4 21/ K BEEETIB2 2’ 11 1 270774
5 30|+ EA FEIBI 2’10 DNS
6 206|= T EEE ¥ IOB 722 4 272179
7 123|428 22 ETIBI1 5 275276
8




1500m .

iof%x 337796 GHA—I)L BARKZE 2009
SHDEEOPDERILRFEARAI—RET S
D ER

L=y tun'— K4 FiiE X 5 a0 X [=Evd s
1 16l EX HIB3 4’ 08 2 471073
2 119[kO0 #R%B EIB2 4’10 3 471373
3 24|33 J§528 FEWIB2 4’ 05 1 408”6
4 107| MW &R EIB2 4 44979

OB-OPM &

L=y tun— K£ FilE IR 5 508K JIE {2 SCE%
5 4[/hMk HE HIB4 4’ 21 1 471779
6 9| KM BIC HEIB3 4’ 30 DNS
7 17(lu0 AR ETB3 4’ 45 7 473778
8 3NN BF EIBI 4’ 25 4 473078
9 9(EFH X B IBI1 5’ 00 10 5 08”0
10 29| $BF HEIB2 4’ 20 2 4’2775
11 122|2H #BE EIBI 4’ 30 8 473874
12 123|4HE2/" 22 ETIBI1 12 5 4476
13 6[85 K & A FEIB4 4’15 9 4739”7
14 21k "R BEEHETB2 4’18 3 472777
15 204|811 SHHLZ ETOB 500 6 4’3375
16 206|= T FEE HEIOB 4’ 59 5 473177
17 15|K $3F HEIB3 5 10 11 5 2470




5000m ...

1319700 1riZEfEs+ BFEEX 2007
D EREOPDERIEFBERF—RET D
DI
L=y Fun'— K% Bl X = AL EX JIE 4L 50 8%
1 1614l EAX EIBS3 15" 13 2 154478
2 108 #J: & EIB2 4 1773977
3 24| J§% EIB2 14’ 46 1 1475872
4 124|788 558 ETIBI 16’ 40 3 16’ 2471
OB-OP®M#
L=y tun'— K4 g B 1= 50 8K 1=t 0%
5 4 /Mis HE HIB4 15’ 47 3 160770
6 5[5£H =E ¥ IB4 14’ 54 2 16’0373
7 18[/h#k #8F FEIB3 17’ 00 DNS
8 12|15t BEf HETIB3 18’ 20 9 18" 1175
9 264G Jt3k EIB2 18’ 00 DNS
10 214[1E@ & B TOB 7 1770775
11 1270 K#E EIB1 17" 42 13 1971570
12 208|% R = B TOB 6 16’556
13 114|B848 Fl— EIB2 DNS
14 33|EHR = B TBI1 16’ 39 4 16’ 2874
15 36[H%F {EAX HIBI 16° 40 8 18702”3
16 301|gkRE IE# B2 TOB 18’ 30 12 18" 5972
17 206|=TF FEEZ EHETIOB 16’ 50 5 16”4973
18 204 |/ SHHAEIOB 20’ 00 11 1872070
19 303| KT #Hth ETOB 10 1871975
20 207(=id RFE FEIOB 1 155975
21 122|5H #EE EIBI 17’ 00 DNS
22 20[iE0 $RF HIB2 16’ 20 DNS
23 110|7% £E EIB2 DNS
400' I II I HARSZAEER 47789 ABRK EHX 2001
P K% Bl BX =) AL 5% [t S0k
1
2
3
4 121|R]J)Il F— EIBI 62”700 1 64”8
5 204|#81 SHEAEIOB 2 7377
6
7
8




7E IV Bk

BARZEEFEHK 8m25 HZRIEH HX 1992
D ER . s . 1
SRS s K 5 SCER [[=Fiva
HIE Fon = el 1 2 3
1 103  #H MA  6mO05 X 5m96 X 5m96 ]
ETB4 +-  w(+19m +- n(+1.9m
5 19 RBE ## 4m79 4m79 5m20  5m20 3
HETB2 (+20m (+2.8m (£0.0m (+0.0m)
3 125 F&HE 2% 5m50/| 4m90 4m98 4m67  4m98 4
= TIB1 (+2.3m (+1.0m (4+0.7m (41.0m)
4 34 /MK HRE  6mO0O0 X 5m35 5m26  5m35 9
R IBI += o (+1.4m|(+0.4m]|(+1.4m)
OP-OBME}
SR e K4 & ik [[=tiva
RIE Fon = el 1 2 3
5 121 |\l FE— 5m11  5m25 5mi8  5m25 )
W £ TB1 (+2.0m] (+0.9m]| (+0.1m] (+0.9m)
¢ 115 sk tF  4m82| 4m07 4m04 4m33  4m33 3
ETB2 (+2.8m|(—02m|(+1.2m|(+1.2m)
7 14 54 BHE m m m m DNS
wHr B TB3 I S (e e
g 202 =R 58| 5m34 5m37 5m40  5m40 1
BIOB (+1.3m] (£0.0m|(+1.1m| (+1.1m)




el
[ —

=]

EE BARZEAEHK 2m32 EE

F&E A JIEX 1993

D ER
=t — K4 BZ 1m60 1m65 1m70 1m75 1m80 = o

1 106 E# i 1m70 O xO | xxQO| xxx 1m70 4

=1B3
34 /M HE 1m9o2 @) x O @) X X0
2 = TR 5 ERY: 1m85 2
105 Z)l 2 1m75 @) O O
3 = Tgs R 1m80 3
19 RE&E Bt 1m80 @) x O

4 = TRo O XX x 1m85 1
OP-OBM B
=t el K4 £Z 1m30 1m35 1m40 1m45 m = -

12 %t B 1m40 (O x X0 [x x x
5 = TB3 1m35 2
/E = |
g 115 X HF 1m50[0 @) O X X X 1m40 | 1
=1B2
=
’ 27 RN FIFE 1m40 DNS

BETIB2




AARFLEEHE 18m6< WAL KRER  REK 2009

PO ETRO):

BB Fon'— %?% ?;g 1 2 3 E& IR
1 106 ,E%;;Bf 8m88 | ;.83 | 8m1a | 7Tmo2 | emi14 | 2
2 ! {ﬁgﬁ:é%f 8M73 1 7m85 | 8m28 | 7m0t | 8m28 |
g3 119 *%'?'Igf‘ 3mi8 | 2m92 | 3m72 | 3m72 | 4
4 14 ﬁglﬂff 6mO0 | 4131 | 5m87 | 5ma1 | 5m87 | 3

OP-OBM#B

sl Fon— %?% f’ig 1 2 3 E& IR
5 202 gﬁhﬁ‘ m m m | DNS
g 119 WK BF  Tma3| g en | 6m37 | Tmos | Tmoz | 2

£TB2
7 209 **;Iﬁﬁ 9MBI | 9196 | 7m56 | 8m93 | 9m26 | 1
g 204 m'{ﬁl’%’fs% SmO0 | 6115 | 6m31 | 6m32 | 6m32 | 3




PYx

AARZLERE 84m2¢ Ta4—rnK EX 2012
XD AR
SIE Fon - %%% %’Zg 3 & IRE
;106 ,E%é;j 41m30 m | 39m12 3
) 11 %%@Iétfﬁ 39m00 m | 39m27 2
5 10 K}é&lgézfé m 30m19 4
4 32 aji%légﬁk 40mO00 m 42m59 1
OP-OBM#B
- 58 5% 3 EE IR
5 2 7?; Mﬁ;ﬁ m DNS
¢ 115 tﬁékl'rééz% 30m63 m 29m86 3
. 22 Es; I%%qu 32m00 m DNS
2 12 %;ﬂlgﬁ;u 10mO00 m 16m60 5
9 10 Eg::;&s‘ *  35m00 m | 33m23 2
1o 301 n%gllggﬂ 43m00 m 36m36 1
;4 204 ?$|{££%$BE% 10mO00 m 25m52 4
1o 123 #E%%Em% m 13m87 6



4 X100m!)L—

BARZ4EFK 38754 X 2010

i
4L-y EEITEAY 5L—y HREIKRF

20|31l HE3t 113] RE FE

13|58 & 112] ZEH ZHBH

28|K)Il HE== 116] I A

141558 BOF 118] PR Egit
[[=tiva SCER

1 HERITEKRT 4375

2HRFEETKRE 4479




4 X 400m!)L—

BARZAGHK 303771 HX 2000
i
40—y BERIEXRF 5L—y HREIKF
13|58 & 112] ZEH ZBH
28[K) BE 104] FK B
3|BRER Kith 118] PR Egit
11|54 KE§ 116] HIE FHA
[[=giva SR
1 HFRETIKRSE 32672
2HEFAIEKXRY 33170
OP 1#A
2L—y 3L—y 4L-y TA
2| AR BEX
31|F%F Eth
34!k HREB
35|FIE A
50—y WESFESHE 6L—y 70—y
205[/\ K HE—ER
210 Ll HE 8
2017k % FIF
204|481 Z54E44
[[=giva ElEd
346”3
VS FESHE 375274




RERIAY |HRIgky | FRETAT RRIRXT
100m 3 7 5 3
200m 4 6 o 3
400m 7 3 0 3
800m 4 6 1 2
1500m 3 - 0 3
5000m 3 7 3 .
400mH 1 0 0 1
4 x 100mR 1 9 0
4 x 400mR 2 ] 0 .
oo EE 28 39 4 94
IR 5 5 5 1
E =Bk 3 7 0 0
fai# 4 6 0 3
LY 3 7 2 ]
J4—ILFERE 15 25 2 5
|t 43 64 6 29




